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doi=1, n
s=0.0
do j=1, n
s = a(i,j) * x(j)
end do
y(i) =s
end do
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doi=1, n

do j=1, n
s=0.0
do k=1, n

s = a(i,k) * b(k,j)

end do
c(i,})) = s

end do

end do
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doj=1,n
do k=1, j-1
;= @ - (aj a,) a, a
end do
a=alllal a
end do
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do k=1, n
a, =a./llall
do j=k+1, n
= - (a &) a
end do
end do




X+ = &, + b (mod m)

X+, = a(ax, ;+b)+b (modm)
=a%x, ;+ (a+l)b (mod m)
=a'x,,+Db’ (mod m)

recursive doubling




u@0,y)=0
u(l,y)=0
u(x,0)=0
ux,1) =0
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n (i.)) 1

uij(n) 'Y f -
° (i,j+1)

uij(n+1) = (ui-l,j(n) + ui+1,j(n)
+ U W+ U ™) A+ T




do j=1, N
doi1=1, N

end do
end do

U = (U ™+ Uy W+ U W+, W) 4+
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n+1 uij("+1) n u..(m

NZ uij(n+1)

do j=1, N
doi=1, N
uij(n+1) = (ui—l,j(n) + ui+1’j(n) + ui’j_l(n) + ui,jﬂ(n)) / 4+ fij
end do
end do




do j=1, N
doi=1, N
U = (U O+ Uy W+ U D W) L4+
end do
end do
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